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X: 58.5
Y: 0.7399

X: 41.5
Y: 0.6909

Coherence plot using Hanning window
79: H1:ASC−Y_TR_A_NSUM_OUT_DQ

fs = 2048 : 100s from 2013−07−07 03:57:00 − 
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86: H1:ISI−HAM3_BLND_GS13X_IN1_DQ
fs = 2048 : 100s from 2013−07−07 03:57:00 − 
nfft=4096, nolap=0.50,  navs=99
109: H1:ISI−HAM6_BLND_GS13X_IN1_DQ
fs = 2048 : 100s from 2013−07−07 03:57:00 − 
nfft=4096, nolap=0.50,  navs=99
110: H1:ISI−HAM2_BLND_GS13X_IN1_DQ
fs = 2048 : 100s from 2013−07−07 03:57:00 − 
nfft=4096, nolap=0.50,  navs=99
113: H1:ISI−HAM5_BLND_GS13X_IN1_DQ
fs = 2048 : 100s from 2013−07−07 03:57:00 − 
nfft=4096, nolap=0.50,  navs=99
114: H1:ISI−BS_ST2_BLND_X_GS13_CUR_IN1_DQ
fs = 2048 : 100s from 2013−07−07 03:57:00 − 
nfft=4096, nolap=0.50,  navs=99
115: H1:ISI−ITMY_ST2_BLND_X_GS13_CUR_IN1_DQ
fs = 2048 : 100s from 2013−07−07 03:57:00 − 
nfft=4096, nolap=0.50,  navs=99
116: H1:ISI−ETMY_ST2_BLND_X_GS13_CUR_IN1_DQ
fs = 2048 : 100s from 2013−07−07 03:57:00 − 
nfft=4096, nolap=0.50,  navs=99


